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Part I / YT 1
Mathematics / TUTd

An observer standing at a point P on the
top of a hill near the sea-shore notices that
the angle of depression of a ship moving
towards the hill in a straight line at a
constant speed is 30°. After 45 minutes,
this angle becomes 45°. If T (in minutes) is
the total time taken by the ship to move to
a point in the sea where the angle of
depression from P of the ship is 60°, then

)

) 45(2 + %)

(3) 45(1 + %)

(4) 4501 +3)

T is equal to :

Sl

o ofis

For all real numbers x, y and z, the
determinant
2x Xy —xz j

2x+z+1 xy—xz+yz—zz 1+y s equal

1.

TF U9 9Ug & T fed ww Tere wt =@
P TR WSl S Uk SEISl &1 3T hivl 30°
a1 § | STeTS Ush 9HH 9 9 Ush 93 & |
RIS Ht AR M W ' | 45 e & a5 =%
I 45° QN ST © | A §Yg | 98 T foig,
foraert fiig P& Se™ 1 318 10 60° &,
e U B F g (Tl #) TR/, AT
TR T

o of1+2)
) 45[2+ %)

(3) 45(1 + %}

(4) 45(1 + 3)

x, y A1 z & 9t S&ifaes Gemsd & fog,
Arforen

2x XY —XZ v

2x+2-+1 xy—xz+yz—zz 1+y

3x+1 2xy—2xz  l+y 3x+1 2xy—2xz  l+y
to: TR T
1) -y -2 (-3 1) @-y -2 (z—3)
(2) (x—yz) (y—2) 2) (x-yz) (y—2)
3) (W—xz) (z—x) ) y—x2) (z—x)
(4)  zero 4) 30
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Let a;, a,, a3, a4, a5 be a G.P. of positive
real numbers such that the AM. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and ag is :

(1) 117
(2) 1445
(3) 1455
(4) 108

If the shortest distance between the lines
X+2M=2y=—-12z, x=y+4N=6z—12\ is

42 units, then a value of A is :

1 2

2) 242
(3) %

4) 2

If the digits at ten’s and hundred’s places
in (11)2916 are x and y respectively, then
the ordered pair (x, y) is equal to :

It ay, &y, a3, a4 4T ag Th HAlHSD A foleh
HEsT # U R 4 € fF 2, 71 a, W
U@ WA 117 § A0 a, a7 a, H1 UK
A= (G.M.) 108 B, T a, T ag H1 FHIN
e §

(1) 117
(2) 1445
3) 1455
(4) 108

Ffg W@l x+20=2y= —12z,

x=y+4r=6z—12\ % = =FaH U 42
THERE, AR THAFR :

1 2

(2) 22

(3) %

(4) 2

afe (11)2016 F Tg1s qen Jerg & T W FHHI:

mxﬁmyﬁ,?ﬁﬁﬁlﬁ'ﬂm(x,y)wagz

M 61 M 61
2 61 2 61
3 (189 @) (89
4) (L 6) 4 (1,6
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6. An urn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in
which 4 marbles can be drawn from it so

that at most 3 of them are red, is :

(1) 460
(2) 490
(3) 495
(4) 455

7. If A and B are two independent events

sugh hal: BA)= % and P(AUB) = %

then P(A nB) is equal to :

1
O T
3
@ 17
3
3 35
1
@4 3

8. If (x+iy)2=7+24i, then a value of
1 1

(7 + VT576)? — (7 - V=576)? is :

TS Feldl § 5 e, 4 el a7 3 The < 2 |
Al 31 i, o0 Faw | 9 4 %< e =1

Hehd ¢ fh 310 9 i ¥ oifaer 3 o &,
i & T :

(1) 460

(2) 490

(3) 495

(4) 455

Ffe A 991 B 9 TA "] oE € fw

P(A)z% LR P(AUB)=§ ], dl
P(ANB) TSI T :
1
O T
3
2 12
3
3 35
1
@ 3

A (x+iy)2=7+24i ], @

i | 1
(7 + V=576)> - (7 — J=576) 1 us WA
g

(1) 2 (1) 2i
(2) 6 2 6
@) -6 (B) —6i
4) —3i 4) -3i
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9.  Which one of the following points

does not lie on the normal to the hyperbola,

ﬁ—ﬁ=1 drawn at the point
16 9
(8,33)?
1
o (2%
(2 (11,V3)
) (10,V3)

o (o8

10. The equation of the circle, which is the
mirror image of the circle, x2+y2—2x =0,
in the line, y=3—x is :

(1) x2+y*—8x—6y+24=0

(2) x®+y*—4x—6y+12=0

(3) x*+y?—6x—4y+12=0
)

(4) x*+y*—6x—8y+24=0

11. If an equilateral triangle, having centroid
at the origin, has a side along the line,

10.

11.

fam 7 |/ «i9-w fag sAfamaas

2 ¥ 1% faig @
s (8,3/3) W EIL
srfireta oY feog & &2

1
o (=)
2 (11,V3)
(3)  (10,/3)

1

o (°-F)

3 g A GHIRWI, ST OFA a2 +1y2—2x=0
ﬁﬂ%@yzﬁ’i—xﬁmﬁﬁﬁﬁ% e

(1) x2+y2—8x—6y+24=0
(2) x2+y?—4x—6y+12=0
) x2+y?—6x—4y+12=0
) x2+y?—6x—8y+24=0

T qHaTg e, o9 s g fog §, #
TF o @ x+y=2 fan 4 §, @1 Frqe

x +1 =2, then the area (in sq. units) of this FTUTFA (T SHEA H) ©
triangle is :
1) 6V3 1) 63
2) %J?? () %ﬁ
3 3J6 3 3J6
4) 6 4) 6
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12. Which one of the following statements is
a tautology ?

1) pvip—9
2 pvig@—p)
G p=>pP—9
4 (Pva—q

13. If the line, y=mx, bisects the area of the
region

{(x,y):0=<x< %, O-'_:y£1+4x—x2}, then

m equals :
13
1) 5
13
@
39
® 15
9
@ 5

14, If the function f: R —» R, defined by

ax, x <2

f(I)=‘{

ax? —bx +3 x=2

is differentiable, then the wvalue of
f'(—=3)+f'(3) is equal to :

12

13.

14.

1 § 9 -1 S T g (Tautology)

) pvip—=9)
) pvi(Q—p)
@G p->P—-9
) (pvqg—gq

afs T = my, 4

{(X; y) 0=sx< %; OEFE1+4-X—I2}H§‘T E}

TR 77 A faT S Fi €, A mFTAFEE
13
1) 5
13
2 -
39
®) 1
9
4 3

?TﬁWf:R—}R,Gﬁ

ax, x <2

f(x)= {

ax? —bx +3, x=2

g1 ufewrfea @, stawadAty €, @i
FI(=3)+f'G)FAAT :

(1 4 1) 4
@ - @ -
3) 0 3) 0
4) 3 4) 3
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15. Let S be the set of all real values of ‘a” for
which the following system of linear
equations

ax+2y+5z=1
2x+y+3z=1
3y+7z=1
is consistent. Then the set S is :
(1) equal to R—{1}

(2) equal to {1}
(3) an empty set
(4) equaltoR
1 1

+ is :
16. The value of c0s285° | I3 sinose’ S

42
o %
o 27
B V3-2
4) 22

17. The perpendicular distance from the point

15.

16.

17.

A S, ‘a’ % Tt arafas 7F & 9= §
e fou Yaw gHiwm e

ax+2y+5z=1
2x+y+3z=1
Jy+7z=1

WA (consistent) g =T S ¢
(1) R—{1} % SR &
2 {[IFRRE
(3) TUF e w=a ®
(4) RF TR T
l_ 4 1 FHAT :
cos285° /3 sin255° '
42
& 7
@ I
@) V3-42
4) 22

&g (3,1, 1) § T w9ad, S fsig (1,2,3) |

(3, 1, 1) on the plane passing through the AHY S 7 oaw 5w W @
point (1, 2, 3) and containing the line, - A A A A A
r=i+j+AQ2i+j+4k)femg w®
- A A ALA A . e
r =i+ j+NQ2i+j+4k), is: Sl T &l i TG €
B Lr e
O O 7
2 0 2 0
o 3
G m G m
1 1
@ M @ m
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18. If A; and A, are the two values of A such | 18. ﬁﬁhlﬂmhz,ha?@ﬁqﬁ%“ﬁw

that the roots « and B of the quadratic HHIHO Ax2—x)+x+5=0 9 o, B TH
equation, A(x2—x)+x+5=0 satisf

1 ( ) d %%E+E+E=D%,a“rﬂ+ﬂw
a p 4 M. . Ko B a 5 A5 AT

—+ —+ — =0, then — + —5 is equal

a MM 2

to :

(1) 512 (1) 512

(2) 504 (2) 504
(3) 488 (3) 488
(4) 536 (4) 536

2 2
19. The product of the perpendiculars drawn | 19, &g« % - % =1 i AT | 38 foig

2 2
; : x Vo 3 53
from the foci of the ellipse, - k1 e 1 [E’ T}H i T w9 @ ® e T
upon the tangent to it at the point A U 3.
3 5V3
72 )i
189 189
O T O RETY
(2) 18 (2) 18
3 3J13 G) 3413
4 9 4) 9
Y/Page 8 SPACE FOR ROUGH WORK / % & & feu s
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dx
20. The integral J. m is equal to : HHTh J. 1+ m ERIEES ;F}
724
™ ™
1 13 1 13
2) = 5
@ = @ <
m m
G 13 ®) 13
4 = 5 =
@ 3 CO
2% log (sin 7x + cos 7x) equals : linm log (sin7x + cos 7x ) gy ¥ .
x—0 x—0 sin 3x
Ly 1 Ly 1
o 3 D3
) = oy o
@ 3 @ 3
1 1
“loe 7 —log 7
3 o8 3 3los
y a
@ 3 @ 3
Y/Page 9 SPACE FOR ROUGH WORK / % &1 & fetg s
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22. If A and B be two finite sets such that the | 22. ﬁAﬁWBﬁWW@%ﬁA%
total number of subsets of A is 960 more Fl Y= B &, BF aﬁf ECI'FIHEITI"’I
than the total number of subsets of B, then HI G- | 960 Afy= %, ql n —n(B)
n(A)—n(B) (where n(X) denotes the (STEI n(X), 9= X & &al aﬁm XK
number of elements in set X) is equal to : %’) TR T
1 3 1 3
2) 4 2) 4
3 6 3 o
4 2 @4 2
i X2
23. The integral 23, HHRA dx S
8 I(x +3x +3)vx +1 J(x +3x +3)vx +1
is equal to : 2
2 tan~!|——| +C tan~! | —— | +C
O B B 0 B | B+
2 = X 2 = X
@ F { x+1} te @ 7B { x+1} te
(3) ﬁﬂﬂt Jm gy & (3) ﬁﬁﬂt \/m + C
1 1 X e -
@ Fon [ 3(x+1)} tE 4 Fon [ 3(x+1)} tik
(where C is a constant of integration) ( SRl C T gHThe TR § )
Y/Page 10 SPACE FOR ROUGH WORK / T% @14 & T s
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24.

- — -
Three vectors 3, b and  are such that

2l =1, [l =2, [ =4 ana
- — — —
a+ b+ c = 0. Then the value of

- = - = - =
4a-b +3b-c +3c-a isequalto:

(1) —26
2) -34
@) 27

4) —68

24, = wfew :, b aE o g 2 =

J
C

al=1, |b|=2,
a1 [¥

- 2 > —
a+b+c=0gd

=4 qol

- = - = - =
4a-b +3b-c +3c-a FHAT

1) —26
2) -34
@3) 27

4) —68

25. The order and the degree of the differential | 25. 37 94 e, e g 7 feig g, <
e | et 6
eccentricity % are, respectively : FTAHTT FHEFT HT Hfe Tl A F: T -
1 21 (1 21
(2) 1,2 (2 1,2
{(3) 2,2 3 22
4) 1,1 4 1,1

26. If the sum of the first 15 terms of the series | 26. AfG FT 3+7+14+24+37+ ... .. & YU
3+7+14+24+37+ ... .. is 15 k, then k 15 7€ 1AM 15 k 8, A k S R
is equal to :

(1) 81 (1) 81
2 119 2 119
(3) 126 (3) 126
(4) 122 (4) 122
Y/Page 11 SPACE FOR ROUGH WORK / % & & fou s
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27. Two numbers are selected at random | 27. 9WIH S: Wﬁﬁﬁﬁ@ﬁﬂ@r& (farm1 gfazemgmn
(without replacement) from the first six %) Fg=SAl I TR I X IA1 H | B
positive integers. If X denotes the smaller e ®1 Yl &ar §, @ X S gAwm
of the two numbers, then the expectation (Expectation) e
of X,1is:

13 13
L 3 1 5

7 7
2 3 2 3
3 2 3 2
@ 3 G) 3

14 14
@ 3 @ =

28. A bag contains three coins, one of which | 28. T& ﬂ@fﬁ?ﬁ?mﬁ%} ﬁ’lﬁ@'@?ﬁ?ﬁ 3R
has head on both sides, another is a biased fad &, T faaat S1Aa (biased) ® 59 W
coin that shows up heads 90% of the time fod 90% 9IR Y& B 3R dfwu swfa
and the third one is an unbiased coin. A fagm 21 9o § 9 = fage agssan o
coin is taken out from the bag at random L I 1| IS Toaeh I o gohe &1,
and tossed. If it shows up a head, then I A Taaent B i Wil €
the probability that it is the unbiased coin,
1S :

N 5 N5
1) 5 1) o
) 5 ) 3
@ 3 @
3y - 3 -
e ®)
gy = ——
4) 13 @4 13
Y/Page 12 SPACE FOR ROUGH WORK / T% @14 & T s
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29. The sum of the abscissae of the points | 29. 37 fag3il & x-fdurishi =1 A1, ERICED
where the curves,
y=kx?+ (5k +3)x + 6k +5, (keR), x-37&]
y=kx2+ (5k +3)x + 6k +5, (keR), touch T 9w €, B
the x-axis, is equal to :
I Ly 10
iy — -
q B » 5
(2) 3 2 3
y Ny 4
B ~3 G) ~3
g 5
= @ -3
30. Water is running into an underground | 30. U YfHd &« Jxitd WaahR e, S 10 H.
right circular conical reservoir, which is e a1 T STHR &t 5w 5 i, %, o gl
10 m deep and radius of its base is 5 m. If 3@ 2| ARE ! & UM & 3TRAT § IfacH
the rate of change in the volume of water : ;
8 FIR S A3/ 8, 2 5 e ot
in the reservoir is %w m>/min., then the Ft o (d,/f. F ), e T R AT,
rate (in m/min) at which water rises in it, g
when the water level is 4 m, is :
1 1
n 3 M 3
) 5 ) 3
@ 3 @ 3
3y 2 3 o
G 5 G 5
3 3
4) 3 4) 3
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Part IT / MW II
Aptitude Test / fr&far adreror

31. IGBC stands for : 31, SRSt frg syl © 7
(1) Indian Green Building Council (1) ¥R B wad 9iug
(2) Indian Great Building Center (2) YRR 9IS Yo Fg
(3) Indian Government Biological (3) YT AR ST g
Center
(4) International Great Beautiful City (4) AT T YT IH
32. Which one of the following is not a load | 32. T=fafEd & | ®F &1 Wadl § YR ISM e
bearing component in a building ? e i 8 2
(1) Beam (1) &R
(2)  Partition wall 2) fawreE dEr
(3) Concrete floor slab (3) hshic i WY Tl
4) Column (4) T
33. Ellora temples are : 33, Tedl & | :
(1)  Built in sandstone (1) < ST TR | o1
(2) Cut out of rock 2 TERHAPLEEE
(3) Built in wood (3) TR HTAT
(4) Made in marble (4) WTRRATE
34. Solar energy is converted to electrical | 34. I ol fh® ¥ fosiell # ftafda St 2?2
energy by :
(1)  Electro magnets (1) Toe@ =i
(2)  Bio technology (2) 4 et
(3) Rain water (3) i = UM
(4) Photovoltaic cells (4) BREERES T
Y/Page 14 SPACE FOR ROUGH WORK / % & & feu s
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35. Salim Chisti mosque is located in : 35. HiH fa&il 1 Ashell el R fem 2
(1) Fatehpur Sikri (1) deR Tail
(2) Hyderabad (2) TR
(3) Delhi (3) faeeit
(4) Gwalior (4) TR
36. Temperature of the Earth due to the | 36. ¥l &1 dIYHM ‘U =9 99E' 9 :
‘Greenhouse Effect’ :
(1) Decreases (1) w=arg
(2) Remains constant (2) U& 99F @A ©
(3) Keeps increasing/decreasing (3) Al wIedl Wl §
(4) Increases (4) weaT
37. Which color is obtained by mixing red and | 37. o1 Ta dien T1 faeim € &9 &1 41 a1 €2
yellow colors ?
(1) Pink (1) Tewslt
(2) Orange () dHal
(3) Brown (@) @
(4) Purple (4) ST
38. Which type of roof will provide maximum | 38. fr=fafEd o S ® Ba el § T fafem
protection from heat radiation in a | goy At Teem < ?
building ?
(1) Concrete slab with plaster (1) hshie Ufal R o 919
(2) Concrete slab with mud and brick (2) whshie ufean fugt wd 3¢l i B &
tiles T
(3) Concrete slab, water proofed and (3) T HiEd, SUFSd 9 Thl g2 ekl
covered with a roof garden gfea
(4) Painted aluminium sheeting (4) T ugfafrm ==
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39. Gol Gumbaj of Bijapur is : 39. SISIY 1 TMed I

(1) A Mausoleum (1) U HFsT §
(2) A Palace (2) UHHEAR
(3) A Mosque (3) T AfSKE®
4) A Fort (4) uHfrem®

40. The ruins of Hampi are located in which | 40. T & e feu Toa & fem@ €2

State ?

(1) Andhra Pradesh (1) 7Y w3
(2) Kerala 2) &

(3) Tamil Nadu (3) dfHerTg
(4) Karnataka (4) HAlEH

41. Vertical sun protectors over wall openings | 41. T@<®! % WY o W< YIS Gi& gd Thwii

help in cutting off summer sun rays on : %! fore e o red €2

(1) Westside (1) 4= & WH

(2) North side (2) I H TWH

(3) On all sides 3) WTH

(4) South side (4) <o = WH
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42. Buland Darwaza is located in : 42. ¥cic oA g | from g2
(1) Red Fort (1) < foe
(2) Agra Fort (2) ST I fehem
(3) Golconda (3) TeTehIS
(4) Fatehpur Sikri (4) deR fEwd
43. What is Venice famous for ? 43, afg fFa & fau aege 22
(1) Mountains (1) Yed
(2) Valleys (2) =feat
(3) Springs @) =
(4) Canals (4) &
44. BigBenisa: 44, TR FME?
(1) Palace (1) wgd
(2) Mosque (2) W=
(3) Temple (3) dfR
(4) Clock Tower (4) HI W
45. Pyramids are located in : 45, fyufs #e fea €2
(1) Egypt (1) zE=
(2) Greece (2) W=
(3) Ethiopia (3) SferfEn
(4) Rome (4) 1
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Directions : (For Q. No. 46 to 48). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking
in the direction of arrow.

f[Eor: (T 46 T48 & e )1 3-D ¥97 apfa § TF a5 F UF 99 &1 fo@ra 7 &1
%1 o9 4 3@d §¢ 39% el GHE 5v9 Hi I HFHaA 5 &
TEAT |
Problem Figure / 997 37ihid Answer Figures /| 3t 377?77%‘&?
46. 0 i T I
(1) (2) ©) 4)
N
47.
@ (1) (2) (3) (4)
N
48.
| ] [ ] ] : ]
@ 1) (2) &) (4)
™

Directions : (For Q. No. 49 and 50).  The problem figure shows the elevation of an object. Identify
the correct top view from amongst the answer figures.

fdor : (7. 49 350 & fow )i ¥vT a4 fHal awg w1 9E §vq e w81 3
FIad 4 G 39H Tel FT 599 G4 |
Problem Figure / ¥97 3TFId Answer Figures / EHTGW?/?RW?

49.

R

I [ I 1

(1) (2) (3) (4)
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Problem Figure / 997 3fid Answer Figures / 3T 3THIaal

(1) (2) (3) (4)
Directions : (For Q. No. 51 to 54). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
fAder : (7. 51 §54 % fem )1 ST FaEl § T BiT-G STFHid & T F9T MFHT FX - X T

TrEYT 9gl g9 giafaa &7

Problem Figure / F¥7 3Thld Answer Figures [/ 3t Jﬂ?ﬁ?ﬁ

%4
&
2
A

X

1) (2) 3) 4)

(1) (2) 3) (4)

(1) (2) ©) 4)
(1) (2) 3) 4)

Y/Page 19
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Directions : (For Q. No. 55 to 57). Which one of the answer figures shows the correct view of the

3-D problem figure after the problem figure is opened up ?

fEor: (755 @57 & fora )i 3-D F¥7 30plad F et W, I FHiadl 4 9 F&1 §vd

FT-TT 7

Problem Figure / ¥97 37FId Answer Figures [/ 3t aﬂ?ﬁ?ﬂ?

55.

87,

(1) (2) (3) (4)

L L JHL I

(1) (2) (3) (4)

Y/Page 20
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Directions : (For Q. No. 58 and 59). Which one of the answer figures will complete the sequence of

the three problem figures ?

fder : (7. 58 359 & forg )i ST FlaA A @ BlT-G1 ArHla F a7 597 sFfaF 7 o
G ST (sequence) T & ST 7

Problem Figures /| 37 sFlaar Answer Figures / 3 Ceane
ADNAN AN AN AN ISAN AN AN
58. ) C K ? ) ) )
N~V N~~~ NPV NN N~V N> aNir NN
(1) (2) (3) (4)
& 0 — I = [
— — X O — ? < <o — %< <
59. |=XU] 12X (D% ; : : t
(1) (2) (3) 4)
Directions : (For Q. No. 60 to 62). The 3-D problem figure shows a view of an object. Identify

the correct front view, from amongst the answer figures, looking
in the direction of arrow.

&9 : (760 @62 & foera )i 3-D ¥¥7 3ipfa & U 9% & U §99 i fo@rar g1 ik
&1 39 4 <@ gU 3% el GHE 399 %l I HAFHId49 4 4
BT /
Problem Figure / 9¥7 3fihfd Answer Figures [/ 3t sHTaar
60.
1) (2) €) 4)
o
61.
M LI ) i g
1) (2) €) (4)
ol
Y/Page 21 SPACE FOR ROUGH WORK / % & & feu s

[}
Qcollegedunlaé
India’s largest Student Review Platform

~



Problem Figure / F97 37IHId Answer Figures / 3¢ 3HIaTar
62.

(1) (2) (3) (4)

Directions : (For Q. No. 63 to 66). The problem figure shows the top view of objects. Looking in
the direction of the arrow, identify the correct elevation, from

amongst the answer figures.

39T : (W63 66 % fom@ )i ¥ 371hia § aeqeit #7 F99 g9 fearar /&1 ak Pt few @
3@d §U IW SFAl ¥ T Tel @ §vF w4 |

Problem Figure / F¥7 37H1d Answer Figures | T STFT

B T 4 4
¢O (1) 2) 3) (4)

%9 mh ndh A
i (1) 2) (3) )

Mt I AN Tl
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Problem Figure / F97 37Hid Answer Figures / 3t 3HIaTar

B2 I = e

T (1) (2) (3) (4)
Directions : (For Q. No. 67). One of the following answer figures is hidden in the problem figure
in the same size and direction. Select the correct one.
s : (767 & fomw ) 74 & 741 SW snFHfaa ¥ @ T 3nFHld 9rg 3K o & HT w9 9

797 SHIT B gH &1 HiA-1 ga & gy
Problem Figure | ¥¥7 3ld Answer Figures / 3¢ W?ﬁ?ﬁ

67. [T ] j|?—_r|1 ﬂ m N s
ngr_ —]J (1) (2) (3) 4)

Directions : (For Q. No. 68 to 70). The problem figure shows the top view of an object. ldentify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

e : (768 @70 & fom ) 1 997 FA F fFdt a5g w1 F9 §vT fea@rr 7w &1 i’ #i
feom 3@ gU IR SpIadl § 9 39H T8l 9T g¥F Tl

Problem Figure / F97 37pid Answer Figures / 3¢ 3?7}'7%?77?

68. = r@_l )ék

T (1) (2) ) (4)

Uy L AL L
T (1) (2) (3) (4)
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Problem Figure / F97 37IHId Answer Figures / 3¢ 3HIaTar

70.
i (1) (2) (3) (4)
Directions : (For Q. No. 71 to 74). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
fRor: (W71 @74 % fo@)i 3-D J¥7 3Fld § U 9% & TF 599 & 3@ TN &1 39,
et 9 5vF, I STFAA 7 q TEand |
Problem Figure | 999 3Tl Answer Figures /| 3t sHfaa
71.
(1) (2) ©) 4)
72
i i |
(1) (2) (3) (4)
73.
L L _
(1) (2) (3) (4)
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Problem Figure / F97 37Hid Answer Figures / 3t 3HIaTar
74.

(1) (2) (3) (4)

Directions : (For Q. No. 75 and 76).  Find the odd figure out of the problem figures given below.

fAgsr: (W 75 31 76 & fo@ )1 Tre g1 7E 599 smpTad H G fG9H FHd vEw1 |
?5' \ / @ @

(1) (2) (3) 4
76.

[ /\ [/

(1) (2) 3) (4)
Directions : (For Q. No. 77). From the top view given in the problem figure identify the correct
3-D figure from amongst the answer figures.
fAdor: (7. 77 & o ) 1 & T g MFd F FRT g¥T F Get 3-D I HFfad 7 G
vETI+7 |

Problem Figure / ¥97 37Ihld Answer Figures / 3t W}"ﬁﬁ

- O
) ) () @)
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Directions : (For Q. No. 78 to 80). Identify the correct 3-D figure from amongst the answer fiqures,

which has the same elevation, as given in the problem figure
on the left.

T : (W 78 @ 80 & forg )1 3-D 3T 37Fiadl H § I Fld Bl TE=Y 599 F, THE

§v9 Jv7 37Fid @ fForat &l

Problem Figure / F¥7 37hid Answer Figures [/ 3 sHfaa

=N
(1) (2) 3) (4)
@B E
(1) (2) (3) (4)
- B P L
(1) (2) (3) (4)
-00o0-
SPACE FOR ROUGH WORK / % & & feTt =i7ig
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Read the following instructions carefully :

Frefefaa AR T g ug

1. Part1 has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part I, ¥4 (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work'. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part I
& Il and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part 1 & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No partof the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

:

10.

11.

qieTeRt & W 1 H 7107 o 30 IEG8 ¥ © Fored ueie
T o Hel S F o = @) 3% Fuifta f5a ™ §
T 1 ( 3AF%Ta wiiaror) § 50 S8 994 © 7 ueis
e I AU = (4) 36 € | G F URTIIH 2 994
¥ foa faw 70 of fuifa ¥ 1 9 vwa 56t wdan gias
% 3TEL W@ TRY e W HH ¢ | Y 994 =g fAuifa
3 T & @ sAfhd €1 91 1 37R 9 11 H Y
Terd 37 % fau 39 yvA & fau fyifa Fa siei 4 3
14 (Th-TieTg ) 9 (334G 1 3iF) T 4 H 9 Fe
for wmdN | afy s o o et wea R sae e e
TR, A FA A Y A HE Hep TE wIE W |

e giadeh], ST 99 T SET Wi T HAEYEs T4
=, Fifn faeh off aRfeefs § (et e g T
I T Fie H e Ft fuft F Sewt) ol v
e SueTsy el HUAl S |
AR 1 IR WHE Hft T F1 71 faawE F1 ™
A it A I T | WA T UE fAErE e, uiE
qiges § favif s < fof ‘v @ & fag se’ g
THifeRd &, TCE Tora SR | 9% ST Teh T T AN 6l
3R qen qfaer % o7a § uie 791 (758 27-31) W &
I

T ST T e o7 aefl Fiereh o1 o191 yam e fomd |

refieren A1 Fiere &t fav sufa & fam =g ervaed
3T TIF A BIS |

Tten gHmE g 9y, srvmef fAdtersl &1 eTud
T - 9T 1S A Ieqo - I 111 371 99 T4
3frela giaTor- 9T 111 &t ST vie < 3R Sufefa w
TR 379 TEAER S A o I¥ET € W o SIS |
THT 1 & W TE {1 S fof 39 99 U4 S 9ie 1@
Sitere T & Y STfea dreE v w6 Gl o 5« |
el 31 A T & S 1 Frgm Jufverfa o @
fou o T W oravy eRmdy  aenfy, stvmef sroe
TfoTa W SIeia TiaTv - 9T 1Ud 113t IRIeT IRaehl i
o SRS ¥

TAaSITTeR/ gETaTeTa iiehersh a1 BIET I (S T
hel, S99 Tee) &1 94 afsd ¥

Titet B1eT H =R o foTe aveeff qdten fepra & Temi @@
Tafadi gra frafiaa i1 srfaa |eE v % 99 amel
w1 Segen wdten Freem & Fremi wa fafadi & stgam dm
fordlt oft fearfa o wian gfiaert, ST 99 w8 3EN ¥iE &
HE off WFT T 9 o7 TR S SR 9 g HS S
31eqa farmret s |

Tte gfaeht, IO 99 WS gET v ° € T8 e g
T ot et Tt ol | g o | off foad |
arvaredl grT wdar s/ det | WA TS % e R
YR i UTGd TTHAT, Hfad A1 gwafeiiad, st &l
ufeiat, A, Wrarset Wi, Tora e SuaToT ar fad
31 WK ot EIHE ahT o ST 9T SUART & shi STIHId
& T
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